[ B=1 =% |

FEMZEDIRERNRE

ek HEAER

4 TH6FEEEREERE (BGOEMR) EIE (KUK £EISE



FEME (REANRRK)

[#zt2 GEEmR) |

% SMeFHEEEESE (GOEMK) B2 (KUK £EIFE

B HE &% M3
BEEIEE
1= 102, 206, 824
3 M ONII))
1= 102, 206, 824
HET
1= 3,917,105
HEEAT HEYRA 84.00m3, EBAARHL 93.00m2, £AFHYLD 51.00m2, HAFTH LD 25.00m 2
1= 3,917,105
®E - RET
1= 9, 770, 586
BERT HERYHTEA 166.00m 3., #HEHLD 33.00m2., HEHLOQ 153.00m 2., #HE I O v V& 141. 00{&
1= 9, 770, 586
AT
1= 79, 456, 433
BTV Y U—+I AU AE RISZEEL 479.00m 2, SHBLEVPHASI4ASY 283.00m 2, ARBEIPAETHS 351.00m 2,
s 79, 456, 433 WA VAL S — FEIER 614.00m 2, HBATITHI VY 1) — MTH 946.00m 3
HET
1= 9,062, 700
HEIOvH T HEIOVOEE-®RE (1) 25.00fE. EEIDO v V= - )& (2) 33.00. H:EI 0 v iEMD 15. 004&.
1% 9. 062, 700 HIK T B v VB 43.00/E, JHiK T 0 v VB 57.00{E, HiKT 0 vV iEsF 91. 00{E




FEME (EREEE)

[#zt3 (Emas |

H% SMOEHERRFE (GOEMK) EE (KUK FETE

B HE &% E
BEEIEE
1= 102, 206, 824
HiEIEE
1= 76,953, 678
HEBEREE G
1= 43, 203, 859
HEBERZE (BL) Elfii - ZL\VE., £HE. *2E. RKiTEEE
1= 33, 698, 626
HEBEREE (%)
1= 8,861, 331
HBEREREE
1= 643, 902
HEEHE
1= 33, 749, 819
TER(E
1= 179, 160, 502
— R EEE
1= 28,377, 834
BRI E
1= 71, 664
TE{E%
1= 207, 610, 000
¥ E I EMHE
1= 207, 610, 000




